












olive(X) = red(X) + [a*exp(‐x/b)+c] 









EnergyCALC =  EnergyEXP ‐ (ΔE/2)

Effective beam energy =  Incident beam energy ‐ (Energy Loss in target / 2)

Eeff =  Eproj – ΔE/2

Ec.m. =  Eeff * (mtarget/(mproj.+mtarget)

In EXFOR !

EN‐CM  Incident projectile energy relative to target

EN  Energy of incident projectile, laboratory system



EN DATA 1 DATA 2 DATA 3 DATA‐ERR 1 DATA‐ERR 2 DATA‐ERR 3
MEV MB MB MB MB MB MB

7.5 24.0 2.0
8.0 122.0 61.0 183.0 10.0 7.0 13.0
8.5 193.0 113.0 306.0 15.0 12.0 22.0
9.0 293.0 157.0 450.0 23.0 21.0 32.0

EN Energy of incident projectile, laboratory system

SAMPLE 
Target‐metal foils, enriched isotopes Zr‐90, thickness 2‐3 mg/cm**2.




